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Let f(x,y) = (z? + y?)e®. The function has
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Let D be the triangle with vertices (0,4), (1,0), and (0, —2). Then / flz,y) dA is
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Reverse the order of integration in the following integral.
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Evaluate / / / z dV where E is bounded by y* + 2?2 = 4 and the planes 2 = 0, y = z,
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and z = 0 in the first octant. T
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Find the volume of the solid that is enclosed by % + y? + 22 = 1, 2?2 + y? + 22 = 4, and

= y/2% 12
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Do NOT evaluate. Rewrite the integral in cylindrical coordinates.
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$== Question Help

Find the coordinates of the center of mass of the following solid with variable density.

X
R={(x,y,z): 0=x<2,0=sy<3,0=<z<3}; p(x,y,z)=3+5

h T - %
s P(ﬂ,j.?) 3{'1

ée

ARy A,

LA
[
N x|
H
T
—
S
A
-
) .
5
3
t)
ey
vy
~
R
it

navy i\d‘




Draw Erase

Select Point Add O

)5 . :
g 20+ 54 dx = 2,'7;4+-,f:<"
o

( ( SR
e SSS xp«lt/ § ‘g—s" g g { x(z-:-iﬂ%z—ﬁd:t
0 o )

D

2D firmukas i py = ﬂ?‘“‘
R

2l

——

>

2

= 5¢ + 9

©

IS 5/EI,



Find the work done by the force field F(.r,y) = 2 Hin(y)r—l— 2_1/_7 on a particle moving
along the parabola y = 2% from the point (1,1) to the point (2,4).
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13. If F = (3+2.1'y)T+ (x* —3;/2).'7 and F = ﬁf find / ﬁf—(lf'lftho curve C is parametrized
SO

as 7(t) = e sin(£)i + e’ cos(t)], 0 < t < 7.
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